Inorganic Chemistry 1
QUANTUM THEORY

QUANTUM NUMBERS
Problem-Solved Example 27

U{y (2) for afomic ovéital, np, n#/ 1%
4 for atomic avéifal, nd, N#/! or N2 ?

©) 74»« atomic arbifal, nf; ng/,nt2, nF3?

Solution

School of Chemical Sciences, Universiti Sains Malaysia KTT 111 : Inorganic Chemistry 1



Solufion :

For N=nv
D For posbtal : A=t £=0,0,2 - 0-D)
N=(; L=o (s), A=/ 007‘/orx}6/e
n=2-,',l-..—o (S) : 2s
A=1 (/9) J 2/0
77'“"’"‘/7 when N=2 , there are f_o/hln/
( So /,o ovhifal does pot- exist)
5) Foy o-aovbital : £=2
n=3, A=0 (35) n-.-/,'.(=o(/S):l¢/kl/:2},
=3, , ‘
= 3
i /2(/;{0 n=2; L=0(3s)
£33 L=1 ()

L#2 (24 Mf‘/oﬂi"‘)

Thus, m& when =3, there are d-orbifal (1:2)
(fo 14 and 2d doesmf w’fﬂ |
? Lt i A=3
) F:a;/:’df;:o/(”) CA#1, L#2, L#3 (na //’avéilal>
pea; L= 03, 4=1(%p)  4¥2 L ¢#3 (o 2£ arbifal)
n=3, A=0 (2, A=1(3p); L=2(3d) : L#3 (no 3f ortitor)
nes; £=0 (4S); A=1(4p) A=2(42); L =3 (4f)
Thas, oly when =4, fhere are f-orbitel (£=3)
o 1L, 2f, 3f does mt exiSt .
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